
M2420000-01

M2-420000-01

M2-40 APS 4-ID FRONT END
2 ND FIXED MASK

MAIN BODY SUPPORT
PLATFORM ASSEMBLY

SEE PARTS LIST

.1 [2.5]

.01 [0.25]

.005 [0.13]

0°30’

125

HALF

D1 1

MUSCIA 3/10/98

J. CHANG 3/20/98

SHU/MUSCIA 3/10/98

D. SHU 3/20/98

D. SHU 3/20/98

T.M. KUZAY 3/20/98

1
C

C
2

B
3

C
4

C
5C

6

8
B

16 Ø.250 X 15/16" LG, DOWEL PIN SST 2

15 1/4 - 20 UNC 2B NUT SST 5

14 .262 I.D. X .062 THK. LOCK WASHER SST 26

13 .281 I.D. X .065 THK. PLAIN WASHER SST 23

12 Ø.250 X 1 1/4" LG. DOWEL PIN SST 4

11 5/16 - 18 X 2" LG. SOC. HD. SCREW SST 4

10 1/4 - -20 X 1 3/4’ LG. SOC. HD. SCREW SST 13

9 1/4 - -20 X 1 1/2" LG. SOC. HD. SCREW SST 21

6 M2-40 FLEXIBLE END CLAMP PLATE SST 2M2-420006-00

5 M2-40 STATIONARY LOWER CLAMP SST 1M2-420005-01

8 M2-40   FLEXIBLE END SPACER ALUMINUM 1M2-420008-00

4 M1-40 LOWER CLAMP SST 1M1-420004-01

3 M1-40 TOP CLAMP SST 2M1-420003-01

2 M2-40 LARGER PLATFORM GUSSET ALUMINUM 2M2-420002-00

1 M2-40 PLATFORM BASE ALUMINUM 1M2-420001-01

2X 1.875 [47.62]

2X Ø.06 [1.52] THRU

2.453 [62.31]

3.375 [85.72]

13 14

14 15 17

11

9
11

11

AT ASSEMBLY
DRILL AND REAM

AT ASSEMBLY
DRILL AND REAM

AT ASSEMBLY
DRILL AND REAM

15

NOTE:

2. DIMENSIONS IN [  ] ARE MILLIMETERS AND FOR REF. ONLY

8.274 [210.16]

A

7 M2-40 SMALLER PLATFORM GUSSET ALUMINUM 2M2-420007-00

-A- .005 A
-B-

(5.250 [133.35])

(8X Ø.28 [7.11] THRU)

(.38 [9.65])

.875 [22.23]

7.492 [190.29](Ø3.46 [87.88])

1. MAKE SURE DATUM       AND       ARE CONCENTRIC

BEFORE INSTALLING ITEMS #12 AND #16

-A- -B-

13

7
C

10

17 1/4 - 20 X 1 1/2" LG. HEX BOLT SST 5

(6.911 [175.54])

(7.558  [191.97])

(.614 [15.60])

(.253  [6.41])

(6.456  [163.98])

(9.751  [247.68])

(8.28  [210.31])

1 M2-420001-01 WAS M2-420001-00

M1-420003-01 WAS M2-420003-00

M1-420004-01 WAS M2-420004-00
M2-420005-01 WAS M2-420005-00

(Ø3.46 [87.88]) WAS (Ø3.210 [81.53])

DRAWING BROUGHT UP TO DATE M.J.M.

(4X Ø.2501 FIDUCIAL HOLES)

(Ø.250 [6.35]
+.001 [0.03]
+.002 [0.05] THRU)

(.380 [9.65])

(3.228 [81.99])

(8.582 [217.98])

J.C. 1/6/99


